4:=2
h=n"+n+4

fornfromOto4d — 1 do
ifactor(h);
end do;

restart
h = n2 +n+A

A:=3
fornfromOto4d — 1 do

ifactor(h);
end do;

restart
h = n2 +n+4

A4:=5

forn fromOto4d — 1 do
ifactor(h);
end do;

restart
h = n2 +n+4

4:=11

fornfromOtod — 1 do
ifactor(h);
end do;

A:=2
h :=n2+n +2
(2)

(2)°
h=n’+n+4
A=3
(3)

(5)

(3)°
h :=n2+n + A4
A:=5
(5)

(7)

(11)

(17)
(5)°
h=n’+n+4
A:=11
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;> restart
> ho= n’ +n+4

> A:=17

_> fornfromOtod — 1 do
ifactor(h);
end do;

|_> restart
> hi=n"+n+4

> A:=41

_> forn fromOto4d — 1 do
ifactor(h);

h:=n2+n + 4

A:=17
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149
173
199
227
257
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h:=n2+n + A4
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end do;
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| > #7-31-2014 Matt
> # This shows by numerical demonstration that Euler's polynomial evaluates a prime values for
L every lucky number of Euler (2,3,5,11,17,41).
| > #Eulers Polynomial is n +n+ A
| > #ifn=0..4-2andA is lucky then the polynomial is a prime number.
>




